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Add 17.2, 8.45 and 0.35.
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3. 1285 + (- 805) + (- 315) + 276 M AR JA R |

Find the value of 1285 + (- 805) + (- 315) + 276.

4. 360 I TR ST M GUSH o UM % &9 § ford |

Write 360 in the form of product of its prime factors.

5. 1230 §991 1 7% FI1 @ ?

What will be the 7% of Rs. 1230 ?

6. ARx=2,y=1dx2+y2+2xy+yH HH TN ?

Ifx = 2, y = 1 then what will be the value of X2 + y2 +2xy +y.
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o e & ofiHt ol U@ 2 3 AP F TR BRI F AR TR | 1

Three angles of a triangle are in the ratioof 2 : 3 : 4. Find the value of the smallest
angle of the triangle.

o Fw 20 T § @ie X 22 T awn | e e e | 1
A pen was purchased for Rs. 20 and was sold at Rs. 22. Find the percentage of
profit.

wF 11 et e e 18 Hiew e s # 30 w9 wf @ wie A X & Zred S 6 F
T fetferd | 1

Find the total cost of Tiles fittings of a room of 11 meter in length and 18 meter in

breadth at the rate of Rs. 30 per square meter.

1 SR STt & A 33 R, @ gEn % A e | 1

The sum of three consecutive numbers are 33. Find the value of the number.
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19, 8 anit 3 SR %7 AT 4 : 5 B, I QG B I Y | 3

The ratio of perimeter of two squares is 4 : 5. Find the ratio of their areas.

| 12. =2 B A DI T e HIRm R 6, 8, 12, 15 3R 20 & W 3 R Wl e I
5e | 3
Find the smallest number which when divided by 6, 8, 12, 15 and 20 leaves the

j remainder 5 in each case.

13. 1,000 TH i WK AT S 15 TR R, A FftiF S R 1@ R | 3

Monthly simple interest of Rs. 1,000 is Rs. 15. Find the rate of interest per annum.
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14. 4ab + b2 STH A ¥ Ty a2 + 2ab + b2 F T A MY | 3
What should be added to a2 + 2ab + b? to obtain 4ab + b2.

15, 63 Hex YT Tt FHER Aar 1 G TE e T R | 3

Determine the perimeter and area of a square field with side 63 meter.

16. fort T Bnagst 3 ol B Siet 317 3 ST 1 g 3 : 4 2, afe 3a Bnge w afem
36 Aft 7 A Frag A et A @R | 3
in a right angled triangle the ratio of the two sides other than hypotenuse is 3 : 4, ifthe
perimeter of the triangle is 36 cm. Find the sides of the triangle.
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Simplify 72 of (3 + 7] .

18. TR FRre e & B0% 37k ITE T R | A e 1 quites 900 B A A% T W Y g

3o A T | S
Rakesh got 60% marks in an Examination. Full Marks of the Examination was 900.
Find the marks obtained by him.

10, o afEE § A Tedw 720 T i O | U 9 ) A=A W25% T SR gE R A @
25% Tt g8 | @ dr A fe % I ar afi gl ? 3
Two watches are sold for Rs. 720 each. One is sold at 25% profit and other at 25%
loss. What is the % loss or gain in the deal. |
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21.

foreft e & et 55 BT H 30 wrgferal € | el o7 40% wrefrat wem o Sufea et § o
e o o IureaTa 39 fe 60% & Smeht R ot 3w fa e & SrgefRa gl Y FEA I
F | 3
There are total 55 students in a class, out of which 30 are girls. One day 40% girls
were present in the class and the total class attendance on that day was 60%, then

find the number of absent boys on that day.

T % T 210 793 3, 1 %91, 50 49 3w 25 T 3 o F e A 7 | 7R oyt o1 srquma
5-6: 88, al T & 918 TS YR & foarenl 6l & g+ | 3
Rajan has Rs. 210 in the form of coins of rupee 1, 50 paisa and 25 paisa. If the coins

are in the ratio of 5 ; 6 : 8. Find the number of different coin that Rajan is possesing.

1 KD - 1/14 (9) (Tum over)



23. 6.3 ¥ i = $1 U g4 T |
Draw a circle of diameter 6.3 cm.
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